Chemistry 3331-100
Organic Chemistry/Dr. Barney Ellison

Thursday: October 20* @ 7:00pm — 9:00/2"! Exam / Hale Science 270
Name: s (please print)

1. (10 pts)  What are the structures of the two separable isomers formed in the

reaction:
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2.(15 pts) @ Give the expected products when pentanal (CH,CH,CH,CH,CHO)
reacts with the following:

a)

b)

c)

PhMgBr followed by H;O"
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+ NH,OH

3. (15 pts)
0
2) CH,
H,C /CHO
I
b) O

Complete the reactions by giving the organic products
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4.(10 pts) Rank the acidity of the following compounds in order of increasing acidity.

COOH COOH COOH
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5.(10pts)  Outline a synthesis of each of the following compounds from isobutyric
acid (2-methylpropanoic acid)

a) (CH,),CHCH,CH,COOH
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6. (10 pts)
COOH
COOH
a)
@7/ O
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COOH
b) COOH
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Draw the structure of the cyclic anhydride that forms when each is heated.
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7.(10pts)  Outline a synthesis of each of the following compounds
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8. (10 pts)
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Rationalize each of the reactions with a mechanism.
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9. (10 pts This a Beckmann rearrangement. What is compound A? What is
the mechanism of this reaction?
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